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I = (u® +u® + .+ 3u? - 1)

* 1 irreducible components of dim¢ = 0, with total 36 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LI = (u%® +u? +...+3u?—1)

(i) Arc colorings

w- (1)

1
ag = 0
1
ag = —u?
u
as = \ —u3 +u
—u?+1
a10 = \y? — 22
—u3 4+ 2u
as = \u® —3ud+u
ut —3u?+1
an = ut — 2u?
ud —5ub + Tut —2u2 4+ 1
a7 = u® — 4y + 4u?
w'? — Tul® + 1768 — 16u8 + 6u* —5u? + 1
a; = wl? — 60l + 1248 — 8ub + u* — 2u?
u — B+ — 10w+ u
az = u?® —13uPB + - -2 +u
ul® — 9u'* + 31u!? — 50u'® + 39u® — 2208 + 18u* — 4u? + 1
a6 = \ —u!8 4+ 1000 — 39u + 7442 — 71010 + 4008 — 2618 + 12u* — u?
u® — 9y + 31u'? — 5000 + 3948 — 2208 + 18u* — 4u? + 1
g = \ —u!8 + 1000 — 39u' + 74u'? — 71419 4+ 40u® — 260’ + 12u* — u?
(ii) Obstruction class = —1

(iii) Cusp Shapes = 4u3* — 76u? 4 640u° — 4u?® — 3140028 + 64u>7 + 9940u25 —
444u%® — 21336u* + 1744u?3 + 32132u?2 — 4260u?! — 35572u2° + 6752u'? + 31380u'® —
7232u'” — 2375616 + 5760u'® + 15076u'* — 3928u'® — 7748u'? 4 2204ult + 3552u'0 —
860u” — 1320u® 4 288u” + 336uS — 52u® — 64u* + 4u? + 16u + 10



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Cs W - 2u—1
Ca2,Cq w3 4+ 13u + - —6u+1
C3,C4,Cg U36+U35+"'+3u2*1
cy
€7, €105 C11 u® 4 5uP 4 —28u 7




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C5 YO+ 13y - — 6y + 1
¢, Cg Y30 42193 4. — 126y + 1
€3,C4,C8 Y30 -39y ... —6y+1
Cg
C7,C10, C11 y®0 4+ 33y%° + ... — 406y + 49




(vi) Complex Volumes and Cusp Shapes

Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

U 0.551237 + 0.6239421 —3.83553 + 8.852641 5.15779 — 8.132461
uw= 0.551237 — 0.6239421 —3.83553 — 8.852641 5.15779 + 8.132461
uw= 0.500204 + 0.6383901 —8.13948 + 2.159081 0.61666 — 3.2444471
u = 0.500204 — 0.6383901 —8.13948 — 2.159081 0.61666 + 3.244441
u = —0.538088 4 0.6023581 —2.39341 — 3.424421 7.19469 4+ 3.599241
u = —0.538088 — 0.6023581 —2.39341 + 3.424421 7.19469 — 3.599241
U 0.442037 + 0.6422141 —4.15822 — 4.567251 4.13742 4 2.023241
u = 0.442037 — 0.64221471 —4.15822 4 4.567251 4.13742 — 2.023241
u = —0.450189 4 0.6097431 —2.65222 — 0.703661 6.36717 + 3.045381
u = —0.450189 — 0.6097431 —2.65222 4 0.703661 6.36717 — 3.045381
u = —0.667436 + 0.2963611 2.57098 — 4.984601 11.29661 + 8.237701
u = —0.667436 — 0.2963611 2.57098 4 4.984601 11.29661 — 8.237701
u= 0.6783554 0.217774I 3.00630 — 0.231471 13.24902 — 1.700661
u= 0.678355— 0.2177741 3.00630 4 0.231471 13.24902 + 1.700661
u = —0.395417 + 0.3683661 —1.48090 — 1.311581 2.04069 + 6.111961
u = —0.395417 — 0.3683661 —1.48090 + 1.311581 2.04069 — 6.111961

u= 148018+ 0.056471 4.63881 + 2.633671 0

u = 1.48018 — 0.056471 4.63881 — 2.633671 0

u = —1.47649 + 0.182721 2.05877 4+ 1.637521 0

u = —1.47649 — 0.182721 2.05877 — 1.637521 0

u= 149536 + 0.166331 3.69893 + 3.429461 0

u= 149536 — 0.166331 3.69893 — 3.429461 0

u = —1.51977 7.24314 14.1450

u = —1.51236 + 0.194471 —1.54097 — 5.155671 0

u = —1.51236 — 0.194471 —1.54097 + 5.155671 0

u = —0.056671 + 0.4547061

0.72337 4 2.400811

4.52745 — 2.971251

u = —0.056671 — 0.4547061

0.72337 — 2.400811

4.52745 4 2.971251

u= 1.53594 + 0.182671 4.47120 + 6.264741 0
u= 1.53594 — 0.182671 4.47120 — 6.264741 0
u = —1.53983 + 0.192951 3.07837 — 11.822901 0




Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

u = —1.53983 — 0.192951

3.07837 + 11.822907

u = —1.56923 + 0.053021

10.58170 — 0.713461

u = —1.56923 — 0.053021

10.58170 4 0.713461

u= 156931+ 0.071181

10.11540 + 6.262871

u= 156931 —0.071181

10.11540 — 6.262871

jen) Hen) Hen) Hen) Nen)

u= 0.425953

0.618616

16.2520




II. u-Polynomials

Crossings u-Polynomials at each crossing
C1,Cs5 P — w4 2u—1
C2, Ce w3 +13u + - —6u+ 1
€3, C4, C8 WO 3w -1
Co
€7, C10,C11 w0 4+ 5u 4~ 28u — 7




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1,¢5 PO+ 13y - —6y +1
C2,C6 y*0 +21y% 4. — 126y + 1
€3,C4,C8 y3 — 39y + ... —6y+1
Co
¢7,C10, C11 y®0 +33y3° + ... — 406y + 49




